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Instructions for Candidates

I.. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Question No. 1 is compulsory.

3. Attempt four questions in all.

4. All questions carry equal marks.

process.

(a) Name the essential and trace elements in biological

P.T.O.
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iron i at?
(¢) What do you mean by T & R form of haemoglobin?

(d) What is the oxidation state of iron in haemoglobin
and myoglobin? Is iron low or high-spin in

oxyhaemoglobin?

(¢) Write the name of chelating ligand used for the

treatment of lead poisoning in humans. Also draw

its structure.

(f) What are the symptoms of mercury toxicity in
humans.

(g) What is the name of enzyme that hydrolyses ATP
in Na*/K* pump?

(h) Name an important enzyme containing Zn?" ion.
(i) Write the name of any two Cu containing transport

and storage proteins. = (2,2,2,2,2,2, 1,1, 1)

(a) What are metallobiomolecules? Classify them.

(b) Draw a cyclic process showing role of haemoglobin
and myoglobin as O, and CO, transporters.
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(c) Explain the role.of calcium in bone formation.

(d) Write down the toxic effects of cadmium 1n
humans. How it can be treated? (5. 4.3, 3)

3. (a) Explain with the help of a diagram the mechanism
of Na'/K” pump in human body.

(b) What 1s meant by essential and non-essential metal
ions in biological system? Give atleast two

examples of each type.

(c) What do you understand by cooperativity

phenomenon in haemoglobin?

(d) What are the symptoms of arsenic toxicity in

humans” How 1t can be treated” (5433

4. (a) Draw the oxygen saturauon curves for myoglobin
and haemoglobin and justify myoglobin has greater

affinity for oxygen than hacmoglobin

(b) Explain the structure and biological functions of

chlorophyll.
(¢) Discuss Bohr effect in biological systems

(d) Mention any two biological functions of Fe and
Zn. (5.4, 3.

Ah
Lad

)

PTO
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S. (a) Describe the pathway of iron from food stuffs to

haemoglobin and ferritin in human body

(b) What 1s metalloporphyrin? Draw the structure of

heme.

(¢) Elaborate the biological role of Na™ and K" ions.

(d) What is ATP? Why is it called energy rich
molecule? (5, 4, 3, 3)

6. (a) Briefly discuss electron transfer proteins in

biological systems.

(b) Discuss the biological importance of Ca?*. How is
it different from that of Mg?*?

(c) What are similarities and differences in the

structures of haemoglobin and myoglobin?

(d) What is the role of iodine in human body? What

abnormality is caused due to iodine deficiency?
(5, 4, 3, 3)

(2000)
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3. All questions carry equal marks.

4. Attempt six question in all, three question from each

Sections
5. Attempt all parts of a question together.

6. Use of scientific calculator and logarithmic table is

allowed.

P.T.O.
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GECTION A

physical Chemistry

. Attempt any five:

(a) What are azeotropes? Give an example. Is it
possible to separate the components of an

azeotropic mixture using simple distillation? Explain.

(b) Describe the use of quinhydrone electrode for the

measurement of pH of a solution.

(c) Determine the number of components, number of

phases and degrees of freedom for the following

system:

CaCO,(s) = CaO(s) + CO,(g)

(d) Draw a labeled phase diagram of water. Using
this phase diagram, explain why skating is possible

on ice.
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(e) perive the Clapeyron-(Clausius equation in the form
dP/dT = AHvp/(TVy). Under what conditions ¢yp

this equation be integrated and how?

() Explain why enthalpy and volume of mixing for
the formation of ideal binary solution is zero.

(5%2.5)

2. (a) State and explain Kohlrausch’s law of independent

migration of ions. Also, explain the variation
of specific conductance, molar and equivalent
conductance at infinite dilution of weak and strong

electrolytes with suitable graph.

(b) Give the principle of potentiometric titration. Also
give the advantages'of potentiometric titration over
volumetric titrations using indicators. Why do we
prefer potentiometer for the measurement of EMF

of a cell over voltmeter?

P.T.O.

e ——
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(c) Transport number of Na' is 0.463 (dilute solution
of NaCl in methanol). Calculate transport number
for H' (dilute golution of HCI in methanol) if A
for (NaCl in methanol) is 96.9 ohm™! cm?mol™’
and A® for (HCI in methanol) is 192 ohm'cm?mol™

respectively. (4,4,4.5)

W

(a) (i) What 1s salt bridge? Write its functions
emphasizing on its role in eliminating the liquid

junction potential in an electrochemical cell.

(ii) Construct the galvanic cell for the following
reaction and write down the expression for

the cell potential

AgCl(s) + 4 H, (g) = HCl (aq) + Ag (8)

(b) Derive the expression to determine the pH value
of an unknown solution by using quinhydrone

electrode with well labelled diagram.
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‘ helled phase diagram
(¢) Draw and discuss the well [abel P

(4,4,4“)')
of Sulphur system

stermine phase
4 (a) In water-phenol system, dete p ,

component, and degree of freedom
(1) inside the solubility curve
(i) outside the solubility curve

(iii) at critical solution temperature
(b) Write short note on any two :

(i) Critical solution temperature

(i) Moving boundary method

(111) Nernst distribution law

(c) For the electrochemical cell: Cd, CdClz. 5/2
Hzo(aq) ] AgCI(S), Ag, the EMF at 0°C and 25°C is
0.6915 V and 0.6753 V, respectively. Calculate
AG®, AS°, and AH° at 25°C. (4,4,4.5)

P.T.O.
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SECTION _

Attempr three question in all.

All guestions carry equal marks.

(a) Write short notes On any two of the following :
(1) Merrifield solid phase synthesis

(n) Hell-Volhard-Zelinsky reaction with

mechanism

(m) Perkin Condensation

(b) Outline the synthesis of Alanine using Strecker

synthesis

(¢) Give the full name of DCC and -BOC and highlight

their use 1n peptide synthess (6,335)

(4} Predict the structure Of products A 10 E n the

oliow INg reacuons
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M CHCILCHL e oot + Br/Red p

)

NaCN hydrolysis .
: B ‘ > (
in cthanol

e NaOH
(i) C,HNH, + C,H.cOCl —— - D

(i) CH;NH, + CHCI, + KOH - E
(b) Differentiate Hoffmann V/s Saytzeff elimination.

(c) Explain Mutarotation with suitable example.

(5,4,3.5)

7. (a) Name the reaction involved in the conversion of

acetamide into methylamine. Explain the

mechanism.

(b) Explain with structure, why sucrose is a non-

reducing sugar.

(c) How will you convert D-Arabinose into D-

Glucopyranose?

P.T.O.



(d) Draw the Haworth projection for a-D-

se and B-D-Fructofuranose.

(4.2.53.3)

glucopyrano

8. Write short notes 01 the following :

(a) Reformatsky Reaction

(b) Hinsberg tes!

(¢) Primary and Sccondary structure of proteins

(4.4.4.5)

(1000)
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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt
of this question paper.

2. This paper has two sections.
3. All questions in Section A are compulsory.

4. Attempt any four questions from Section B.

SECTION A

1. (1) What is meant by the term URL? Can one URL
point to two different locations? Justify 1

ANSWET.
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(ii) Describe the PUrpose of each of the following

layers of OSI model : (3)
(a) Data Link Layer
(b) Transport Layer

(c) Network Layer

(iii) There is @ User who is unable to see the
image on a8 Web page on the browser. Write
syntax of the attribute that can be used to assist

the user to get some idea about what the image

1s?

Give an example of image tag attributes used

to :
(a) Specify the image’s path

(b) Set the width to 150 pixels (3)

(iv) A college wants to set up a network connection,

which should have adequate 3 connections, low
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(v)

(vi)

(vii)

&Y

installation cogt yng fast (ransmission, The
college wants (o epgyre that there should be a
possibility to add new devices in the network,
Which topology should be chosen for the

connection? Explain your answer. (3)

Write the HTML code to perform the following
tasks : (3)

(a) Set the background color as “aqua”
(b) Align a paragraph to the left

(c) Insert a horizontal line between two

paragraphs

Describe the purpose of CSS? Write the code to
link your web page to a CSS file. (3)

In a classroom, there are different

communications taking place, based on these
identify how it is similar to data flow in a

network :

3)

v}
=
o
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(vii)

(ix)

(x)

(xi)

4

(a) Student asking question and then teacher

answering it

(b) Teacher giving instructions tO the class

monitor

(c) Students talking to each other after the

teacher leaves the class

[llustrate with a suitable example of the use of

the Internet and intranet. What is the meaning

(4)

of the term extranet?

llustrate the use of coaxial and twisted pair

cables with suitable examples. (4)

Give one advantage and one disadvantage of

wireless LAN. (2)

Parabolic dish antennas are used for microwave
communication. What is the purpose of selecting

a parabola shaped antenna for the same?

(2)
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(xii) Which is the main protocol that enables the g,

of email service?

(2)

SECTION B

139)

(a) What do you understand about the term ISP?
What role does an ISP play to provide service to

your home’s broadband connection? (4)

(b) Describe the use of point-to-point communication

and multi-point communication with suitable

examples. (6)

3. (a) Differentiate between star and mesh topologies in

| networks. (4)

(b) Complete the following table with appropriate

details : (6)

P.T.O.
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Dovigs  [lpask—hose
Router .
Hub | —
| Gateway |
(a) How does video conferencing help in teaching-

learning activities? Explain any two other

applications of the Internet which you use in day

to day lives. (6)

(b) Describe the difference between IP address and

MAC address. (4)

(a) (i) Write the CSS code to insert the image of
the butterfly with name btfly.gif as a

background image for a web page. (6)

(i) Write a CSS style specification rule that
would make all unordered lists have square

bullets and a purple background.
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(iti) Write HTML c¢ode that displays a hyperling
to your school website. The website shoy)g

open in a new window when the user clicks

on the hyperlink,

(b) Describe the remote login process using TELNET
with the help of a diagram. (4)

6. (a) Write a HTML code structure to create the
following output on the webpage : (7)
Admission Criteria for UG Courses
Eligibility Conditions:

1) At least 55% in the qualifying examination
i) Must have studied the following subjects in class XII:
e One language
® 3 stream specific subjects
Please note meeting eligibility condition does not guarantee admission.

Declaration:

01 hereby declare [ have read and understood the eligibility conditions.

SUBMIT

P.T.O.



1897 8

(b) What is DNS? Give an example of each website

’ ¢ A y .
which uses ‘-0TE and ‘.ac.in’ domains. (3)

7. Write short notes on the following (any five):

(a) Hyperlinks

(b) Search Engine
(c) Repeaters

(d) HTTP

(e) VolP

(f) m-commerce

(g) Social Networks (10)

(1500)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. All the six questions are compulsory.

3. Attempt any two parts from each question.

1. (a) Solve the following differential equations : (6.5)

d
(i) b A ytanx + x’cosx
dx

(ii) (x* — ay)dx + (y?> — ax)dy = 0.

P.T.O.
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(b) Solve the Initial Value problem .

xg—3y=x5yl/3, Y(O)=1 .
dx

Or

Solve the following differential equations :

. d
smy&y—zcosxcosy=—cosxsin2x. (6.5)

(¢) Find a family of oblique trajectories that intersect
the family of parabolas y? = cx at angle 60 degrees.
(6.5)

2. (a) Consider the differential equation :

2
2 d Z+xd—y—4y:0.
dx~ dx

X

Show that x* and 1/x* are lincarly independent

solutions of this equation on the interval 0 < x < .

Write the general solution of the given equation.

Hence find the particular solution satisfying the
dy

initial conditions y (2) = 3, K(‘Z’):—l. (6)
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(b) Find the suitable integrating factor for the

differential equation

(x2+y?+x)dx + xydy = 0 and hence solve it,

(6)

(c) Given that y = e is a solution of the differential

equation

2
(2x—1)d—§—4(x+1)dy+4y=0 ;

dx &

find a linearly independent solution by reducing

the order. Write the general solution also.  (6)

3. (a) Solve the Initial value Problem

dy dy
—2 42 15y=0, y(0)=1, Z(0)=5. ,
+ T5y=0, ¥(0) 1 (0)=5 (6.5)

(b) Find the general solution of the differential equation

using method of Undetermined Coefficients

d3y d2y dy 2x
—+2—-3—-10y=28(xe 6.5
x>  dx? & 4 ( ) (65)

P.T.O.
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(¢) Find the general solution of the differential equation

using method of Variation of Parameters

(6.5)

4. (a) Given that e* sin 2x is a solution of the differential

equation

dZ 3d§ d’y 139 30y =0
dx* dd dx?dx

find the general solution. (6)

(b) Find the general solution of the differential equation

by assuming x > 0

d? d .

2dy y

X'+ Xx—= +v=4sin(logx

dx? dx d ( e ) (6)

(c) Find the general solution of the given linear system

dx dy
— =2x+5y, —=5x+I12.
P T g oY (6)
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equation

nd the solution to the linear partial differential

2

xu +yu = U~ 1, u(x,y) = x> ony=X
(6.5)

(b) Find the solution of the following partial differential

equation by the method of separation of variables

u +2u,=0, u(0,y) = 3exp(-2Y)- (6.5)

(c) Reduce the equation
u —yu —u= 1,

| form and obtain the general

(6.5)

into canonica

solution.

6. (a) Find the general solution of the differential equation

by reducing it into the canonical form

§9)

4u + Su, Tu, TU b - (6)
, y )

XX xy Yy

(b) Reduce the equation

u +4u\‘+4uw'-*()

XX X)

4 hence find its general

into canonical form an
(6)

solution.

P.T.O.
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(¢) (i) Find the partial differential equation by
eliminating the arbitrary function f and g from
the following equation

z = f(x+ay) + g(x -ay).

(ii) Find the partial differential equation by

eliminating the arbitrary function f from the
following equation

_ Z
yZ+ZX+xy—f(x+yj (6)

(1500)
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Instructions for Candidates

I. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Question no. I is compulsory. Attempt any four from

the rest. Attempt five questions in ail.

3. Non- programmable scientific calculators are allowed

1. Atcmpt any three of the 1'ulluw|ng:
() What are Lissajous lLigures and its uses ?

(b) What 1s meant by “degrees of freedom™ and

“Coordinates . Explain with the help of example
| !
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(¢) What is zone plate? What are phase reversal zone

plate?

(d) Define logarithmic decrement for a damped

harmonic oscillator.

(e) Explain the terms ‘plane of vibration’ and ‘plane

of polarization’. (3x5=15)

(a) Explain the Simple harmonic motion with the
help of a Simple pendulum. Derive its time
period and frequency expression. What is the
effect of amplitude of oscillation on its time

period?

(b) A smooth straight tunnel is bored through the
center of the earth. A particle of mass m is
dropped into this tunnel. Prove that the motion is

simple harmonic. (10+5)

(a) Light from a monochromatic source is incident on
a thin transparent film. It undergoes multiple
reflections. Show that the interference patterns of
reflected and transmitted waves are

complementary.
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(b) TV . ant Phag,,
. ce and intensitiec | ~ 2
Jifferen cnsities in the ratio 25 .

3

o waves having same frequency, congt

1 are

Supcrposed_ Caleulate the ratio of maximum 4.
: " an
inimum Intensities obtained in the interferep,

Ce

rn.

pake (10+5)

Derive and finds the solutions of g dampeq

(a)

harmonic oscillator.

(b) A 2¢ particle is under an elastic force of 10 dynes/
cm and a frictional force of | dynes/cm per sec,
If it is displaced through 2 ¢m and then released,
find whether the resulting motion is oscillatory or

not. If so, find its period. (10+5)

(a) In a Newton’s ring experiment, the diameter of
the 10th ring changes from 1.40 cm to 1.27 cm
when a liquid is introduced between the lens and

the plate. Calculate the refractive index of the
liquid.
(b) Describe an experimental setup and the necessary

theory to the {ind the wavelength of a monochord

a lieht source by Newton's ring method.
(5+10)

P.T.O.
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(8) Give the theory of plane transmission grating and
show how the wavelength of light is determiﬂed-
(b) Derive an expression for the half angular width of
a principal maximum in the diffraction pattern of
a grating having N slits. (10+5)
7.

Write Short notes on

(a) Normal modes of a string
(b) Half Period Zone

(c) Spherical waves. (5+5+5)

(700)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. Attempt any five questions out of eight.
3. All questions carry equal marks, 15 marks each.

4. Answers may be written either in English or Hindi;

but the same medium should be used throughout the

paper.
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What are the basic indicators of development?
Elaborate on the characteristics of a Developing

World. (Todaro & Smith)

Ry @ e whad 7 w7 fawre e <6 fRwas
2 frew & @0 (SRR IR fe)

The Covid-19 pandemic is an unprecedent shock to
the Indian Economy. Give a detail account of the
impact of the shock on the various segments of the
economy and the policies announced by central

government and the RBI so far.
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3. ‘Sevenly years on from Independence, India’s

education and heal(h care indicators remain grossly

unsatisfactory’. (Vijay Joshi). Discuss.’

A @ WAl e a, wwed @ e sk @R ¥
e gl o A i 81 (e i) =l e

4. Despite doing better in terms of the growth of per

N . . . » . N ? » « ~ ri\
capita income, India is falling behind many countries

Discus and compare

in terms of many social indicators.
| the key lessons

India’s position in South Asia anc

learnt.

o @i o gfe @ AR A A @ O T A
VR & AR ddda @ e § @d om 8 o3 @
2 zferor ofimn ¥ wra @) Rufy sk sl FET SE
# g AR fadgm =

5 The labour market India has undergone significant
changes with a sharp increase in young unemplovment.
Do you agree or disagree. Discus in context of
changes in the labor market during the period 2005-

2018.
WAl s R, qa W[ ¥ A 3fe @ Ay wrea
qRad ¥ T B AT FEAT ¥ A FEEAA 7 2005 - 2018 F

safr & 2RF 5W 99K | WReAT F w29 7 faEma w0

-
P.T.O
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6 Critcally analyze the Nehru-Mahalanobi
. ol onily ()‘”
‘ S * ' atey
clucidating (he achtevements; shortcom; vy
b omings a
s and

mispereeptions.
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“The reforms of 1991 have played an important rol
| role

in accelerating the growth and performance of th
e

Indian economy’. Comment.

1991,%W%WWW%WWW§
P Rl Gl 2 Root il

plain the impact of demographic changes on

Briefly ex
h performance. What are the key

a countries growt
trends in India’s demographic transition?

Al g 3 AR W W REIREEE ARaE &
o G ¥ U X WG B ST FE § e g

0 87

(2000)
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Duration : 3 Hours Maximum Marks : 75

Instruétions fdr Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper. |
7 There are eight questions in the question paper.

Answer any five questions.

3. Al queétions carry equal (15) marks.

4 Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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P.T.O.
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4.

1.

2

T W - U7 7 IR Ao a1 B e gen W A A, Aferer
N I 1 WA U & B AT |

(a) What are the new monetary aggregates suggested

by the Third Working Group of RBI? Explain the

rationale for this revision of aggregates. (6.5)

(b) Derive deposit multiplier and complete money

multiplier. What are the changes in deposits,
currency holdings and money stock if the RBI
purchases Rs. 1,00,000 worth of government
securities from open market when required reserve
ratio is 10%, desired excess reserve ratio is 5%
and currency deposit ratio is 25%. (8.9)

() IRAAE & AW FE TE W A W AY Afgh

T B W & TH AWEH & U &
A |

T T AU R IO € IR R ARDIE T
@led & @ W, A AfesE AW T wIE A
TTAE Bq 27 T A9’ ¥ 1,00,000 A FOWHA
gl W AETEE AR IO 10% ®, difed
FoRed WA T 5% ? A A WA IHTE
25% B
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P

(a) The principal agent problem in equity contracts
explain why that contracts are more prevalent in
financial market than equity contracts. Does this

solve the moral hazard problem? (8)

(b) Discuss the causes and consequences of financial

CT1SIS. _ (7)

(37) =t seel ¥ yww el W A 2 Rh, Y
A FEel i geen ¥ sEy S fal aew
# e 1w ar A G @R F 5 e 27

(@) fa<ia 9%c & Fron ik gRom o= =

(a) “Better credit risk does not subsidise poor credit
risk when symmetric information exist, whereas
honest borrowers subsidise dishonest borrowers

when information is asymmetric.” Explain.  (7)

(b) Mlustrate how long call position offers unlimited
gains against rising price of the underlying asset,
but a fixed loss if the underlying assets price

declines. (8)

P10
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() “awfe o Mo A we Amar wfze e w
AR few w afEd af A 2, wafE daeEr
JuRad A IUNEAN B wfewd 2} F A AR
v AR 317 FHAA

(@) S ¥ fr DA o wior Refy, siafifea aReafa
Td a3 Raow AR T W S 2, A
ve Pfad qREE R JdfRe wafe @ e |
fiae st 21

(a) Explain how the Preferred -Habitat Hypothesis is
a combination of the rationale for the expectations

and segmented market hypotheses. 9)

(b) The interest rates on one-year, two-year and three-
~ year government bonds are 4, 7 and 9 per cent

respectively.

(i) Describe the shape of the yield curve.
(2)

(i) Use the expectations hypothesis to
determine the market’s forecasts of the
one-year rate next year and after two

years. 4)
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() oowem @ f& PR qedter- wmaw afenern e
IR @A aR afegmerma @ e g v g
2

(A) v o, A A IR A A @ AN A A
W FAT 4, 7 IR 9 yfama 2

(i) 3T &% B R @1 9 &

(i) e af 3R A aut @ aw vA A A A A
TR F gdwEl @ Feifa w@ & fav
IR & ufewern & IJgA w

5. Trace out the major differences in the degree and
nature of NPA crisis in Indian banking system during
1997-2002 and after 2008 global financial crisis. What
have been the policy responses to this crisis in two

different time periods? (15)

1997 -2002 & WA #2008 & Avaw fasg wae & 4@
Wit A wome @ i qae A1 felt s ugA 4 e

A @ 9AI AU A OHA - g qug wata 4 g awe

R wfafFan Fw Afa @ 27

PTO
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6. (a) How have the capital adequacy norms changed in
recent years? How is Basel 3 an improvement

over Basel 2 norms? (8)

(b) Several variables can be placed in one or more of
the following categories: policy instruments,
operating targets, intermediate targets, or final
targets. Which of the following variables can be

placed in which of these categories and why?
(i) Non borrowed reserves
(i) The interest rate
(ii1) The money stock (7)

() T« = a6 & I T AHeE B T T 7 B
99 3, 9qA 2 AHES A GUR B7

(@) =% WuE T Fw FioRer I ¥ @ w1 gy
2 M Iuewr, wRaw wed, Aema wer, @ s
7 ffofaa ¥ @ e oo o 3 R o
ReCie G B

(i) R IuR IR
(i) == =®

(i) T <
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7. (a) What do you understand by the Unconventional

monetary policy measures? Under what

circumstances are these used? Outline the
categories in which these unconditional measures

can be classified explaining any two of them.

(8)

(b) Explain the process to make the money multiplier

invariant to changes in statutory cash reserve

requirement? (7)

() s A A Iw A o W T B T
Iqa fae oRffafral & Rear o 27 I @ fReR
A & ar w3 gy, 39 A A FIE dAR R
foel 3 o T TR A aiga @ R

(1) duwfrE T=8 welEA wEvEEA ¥ oRadq & o o=
M # yferAAm aAE &1 oufEd & awe &)

8. Write short note on any two of the following

(1) Movement from base rate lending system to

MCLR svstem
(n) Open Market Operation

(in) Liquidity Adjustment Faciliny

P.T.O
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(i) ¥ Y 3w Rew 3 wivEIT R ¥ T
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(iii) e wmoE g

(25,000)
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5 Answers may be written either in Engligp, or in 1y
_ indj
but the same medium should be usedthrougho |
ut th
e

paper.

gl & fag FAdm
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Frgeren ferfay |
o o I IfREd B
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1 What 1s Gl '
. . 0 \\h'\ 8 » p 3 .
al W Arming? Give a detailed description

f various cvi . ,
of various evidences gf global warming.

IR T TR 7 W g @ T T e
fmor Afdroy

OR

"To what extent it can be said that the present-day

Climate Change is real". Discuss with suitable

examples.

78 FE aF el o a&dl ® & e Seayg qiede
arefas 21 3fm Jewwl a@iRe @ Fifm)

P.T.O.
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2 Define \ulnCTabi“ty' Explain various types of

-

vulnerability with the help of suitable €xamples.

Wﬁqﬁnﬁﬁﬁ'ﬁm%ﬁﬁwmﬁaﬁm
JeEC it gerad @ GAAEg

OR

Discuss the role of vulnerability in relation to climate

change.

S UREE ® "y W ghed s wte @ R
REN

r )
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3. Give a detailed accoyunt of the impacts of climate

change on human heat},

WWWWW%HWWWW
Qe

OR

'Climate change can have profound effect on the flora

and fauna'. Elaborate.

Sy wRas @ waetay aﬁiﬁa‘fqzmumqgm
2 R ¥ wwE

pP.T.O.
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4.

6

Explain the -ole of Climate Change Mitigation mn

achieving the global targets.

Wa@ﬁwﬁ%mmqﬁaﬁ?wﬁ

ﬁﬁwaﬁwﬂmﬁu

OR

Discuss various mitigation strategies adopted in South

Asia for combating climate change.

ey wRadT A e @ fog efeor ofimr # s TR
e T wAfaal @ 9= Fl
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5. Write short notes on any two of the following:

ﬁwﬁﬁwﬁ%%ﬁawﬁmﬁmﬁw:

(a) National Action Plan on Climate Change

e RS W Uy FE A

(b) Climate Change Adaptation

Sefarg TRad= FFEAT

(c) Role of UNFCCC

-



3698
UNFCCC @t ¥

(1000)



[

This ;
u
duestion Paper contains 4 printed pages']

0
'K
oo
.....
.
ee®

Sr. No. of Question Paper : 3706 C

Unique Paper Code 12315357

Name of the Paper . Making of Post-ColOﬂial
India (c. 1950-1990)

Name of the Course . BLA. (Hons)

vemester . 11 [CBCS-LOCF: GE)

usation : 3 Hous Maximum Marks - 75

MR Tﬁ'd? : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

o

Attempt any four questions in all.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi,
but the same medium should be used throughout the

paper.
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mﬁfﬁavl

1

2, @awwﬁﬁﬁn
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e L
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fory

Do vou agree that the Constituent Assembly frameq
India’s constitution as an instrument to achieve s0cial

revolution and modernization? Elaborate,

T I T A A WA B (o AGUH AT A 2 A
& TS FiG AR ALHLFT T B w3 ey
¥ s a? famw ¥ ffEw

Is it correct to argue that the formation of cultural

and political identities based on languages was decisive

in the reorganization of states after independence?
Elaborate.

T A T 1A 2 AT gww e @ e
A W FMUR W AEHGE 3R T wmme
i fig gan? fomm ¥ fafaw)

Discuss the salient features of the first two five years

plans adopted by the Government of India.

WA WER 2 BN IO T WHW 2 quadid Qs &
A R ) fRemr Hifol
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OR /=&t

Is it apt 10 argue that the industrial and agricultural
development policies adopted by India resulted in the
cfeation of unevenness in social and economic

development? Elaborate by comparing the examples
of Punjab and Bihar.

T TE T o IR 2 fr v g A e S
SN IL IR CD 10 e W——— NS T LS
G # s Yo gg7 vomw ok Rew @ Sewdl A
T wh R ¥ faRa

4. Discuss the salient features of the Non-Aligned
Movement. To what extent was Nehru successful in

adopting an anti-imperialist foreign policy?

ey e 9t e faRarel 9 e Hifor) amrsEre
faeht e AT o= F AEw fFw g % wwe @7

5. Discuss the role of the political parties in the

democratic transformation of India in the first three

decades of independence. Elaborate ome of the
following case-studies: (a) One-Party Dominant
System (b) Left Parties (c) Dravidian Movement.

WA & UFA 9 I A ARG & AFAE gRadT §
T T @ ufe A fAEE i e TH

P.T.O.
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0.

- (&a@ﬂ)ﬁWﬁ%w "
e e (3) T (AR ) afi;*m

Discuss the political and €conomije COﬂ'le
movement. [s it correct to argue that tp¢ “))(

created critical political atmosphere leadimovemem
imposition of the Emergency"_ of 1975.779 i

t of thc Jp
g to the

mﬁﬁwaﬁ%%ﬁm%ms-na}l
g W WL T DR A e, et
1!

How did the V. P. Singh Govern;nent’s proposal to

implement the Mandal Commission recommendationg
on reservation transform the political discourse on

caste in India?

ARG W A H@ﬁﬂ%mﬁmmaaﬁﬁg
TER & TEE ¥ ORG § Ifd | Torioes g & &3
oot fear?

Do you agree that the themes of popular cinema

reflected the changes in socio-cultural milieu in

independent India?

T Y T T Y G © o g R @l a9
T | W A g - aeaE e ¥ wead @
yfafsfe fomar | |

(4000)
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Instructions for Candidates
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of this question paper.

2. Attempt Any Four questions. -

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.

P.T.O.
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ma“f'a%“ﬁqﬁ'é‘sr

1

ro

o - @ e & SR T T FRT oy g S
Fyehaen forfdg |

el W Al & 3 Ao |

ot 7 @ e @ 8 |

=0 V- T 7 I e a1 R TR v o At e
T IR = e T & B AR |

Elucidate the arguments given by Ambedkar in his
Essay ‘Castes in India: Their Mechanism, Genesis

and Development’ on the origin of caste in India.

“NRa ¥ TR & It W I REy YRa § gt I9e
99, I Ak fEm” ¥ 3 FRER g0 Ry v 9t =)
W F |

Examine the views of Ambedkar on question of

Women Liberation.

HReT qfA & TH W EeE F faun &1 wimw #ifw

In opinion of Ambedkar. what are the solutions of

land and labour problems in India’
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4.

7.

3

ﬁm‘ﬁmﬁ‘,mi\@aﬂzwm@fﬂm
w0 27

Social democracy must precede political democracy’,

Examine Ambedkar’s views on democracy in light of
this statement.

R e W T A 3 T A e
W FH R A ¥ Reway | e D AR W
QAT Y |

Discuss views of Ambedkar on the Nation and
Nationalism.

T N TLAR W & e & RaR w a=t & |

What solutions did. Ambedkar offer for accommodating
minority rights in India?

 WRE ¥ EEE IR At w1 @ e
¥ IR T R wHEE W [e?

Ambedkar was a champion of Constitutional morality.
Elucidate.

FATH GuAE ARET ® wwhdF T | we w7

P.T.O.
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§. Write short notes on Any Two of the following
i ¥ @ el @ W U Rt ff
(a) Untouchability an extremé form of cruelty
FEGEA FIl Al Th qH &
(b) Ambedkar’s views on Religion
T W aﬁm & faaw
(¢) Ambedkar’s Ideal Society
| (d) Ambedkar as a Political Actor

UF qorifaE APAT B A IFEaR

(10,000)
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1.  Write your Roll No. on the top immediately on receipt

of this question paper.

2.  Unless otherwise required in a question answers should
be written either in Sanskrit or in Hindi or in English,
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paper.

3. Answer all questions.

Bt & fog Fdw
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FThAER foliay |

P.T.O.
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WW“”“? | I Hey o
Zyar =fey | A
. ot v IR AT |
| e o A S (15)

Describe the <Atreya tradition’ of Ayurveda.
Jaar / (Or)
i vl W afer feo forRag
Write short notes of the following topics —
(i) sreren &

Ashtanga Hrdayam

(ii) ggedfed

Susrutra Samhita

2. IR B FFER BRI @ U H | (15)

Describe the concept of ‘Tridosa’ according to

Ayurveda.
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3

HREr / (Or)
frfafaa fay R Aferm fropft fory -
Write short notes op following topics —
(i) = (Trimalas)

(ll) TIHETHA (Pancamahabhutas)

3 Hem WZ{%E" Wa”hﬁﬁ;{ql (15)
Describe the Astahgadyurveda.
q9ar/ (Or)
ffefan w afam o fafao
Write short notes on the following topics
(i) FT
Regimen for raimy scason
(i) A g

Regimen for summer

4, AT @ FFER AR ¥ ava 47

Describe the ‘Saptadhatu’ ace
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JAdt / (Or)
frforfaa fwat w A oo R -

Write short notes on the following topics —

(i) @R (Ahara) 3N fwanr (Viruddhahara)

(ii) f@@ (Purgation Therapy)

5. JMEC ® IER AT GIE Yyl @ R 7 (15)

Explain the process of Diagnosis according to

Ayurveda.
JAar / (Or)
ffafaa fawal © Afery gt forfRaw
Write short notes on the following topics -
(i) fara (Sirisa)
(i) weEgedt  (Samkhapuspi)

(i) EeT (Amala)

(500)
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of this question paper.
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(10x3=30).

Questions from Part A carry 10 marks cach

4. Questions from Part B carry 15 marks each
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P.T.O
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PART A

Attempt any three Questions. Al questj
Sthns car
ry

al marks.

u
eq (3x10=30)

pdward Muybridge was able to show that photo h
grap y

13 .V. . .
divide human life into '
. a series of moments,

Discuss
' (10)

2 Dorothea Lange believed that photographs should

«effect social change’. How did this belief shape her

‘7
photography’ (10)

3. What are the differences between a focal plane shutter

and a leaf shutter? What are the challenges they create

for the.photographic practise? (10)

4. As a photographer what equipment would you

definitely pack in your kit for a wildlife shoot and

why? (10)
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N

Examine the various forms of digital manipulation (hal

can be done with photographic images using digita!

photo editing software? (10)

PART B

Attempt any three questions. All questions carry

equal marks, (3x15=45)

Louis Daguerre ‘seized the light’ and “arrested its

flight” in the process he invented. Discuss. (15)

Critically examine Robert Capa’s contribution to the

field of war photojournalism. (15)

What role does composition play in photography?

Discuss the techniques that can be used to meet

compositional objectives. (15)

Portrait photography is more than just a snapshot.

Discuss. (15)

P.T.O.
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0. which specific tools in Adobe Photoshop can be used
1o ‘edit’ and ‘manipulate’ digital photographic images?

lain how they are
Exp y used. (15)

(4000)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

(3]

Attempt all questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.

ot & fog fdm
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ro

sty ferlig

aft wor ato |

aof W @ W i |
wm—mmwmm%ﬁmﬁwwﬁéﬁq,m
T IR 7 WeAd T B BT Ay |

(a) Explain the various objectives of business.  (9)

(b) Distinguish between business, commerce and

trade. 9)

Or

(a) What are the various social responsibilities of

business towards different groups? (8)

(b) Explain the concept of “Business ethics”. What

factors govern business ethics? (10)

(37) wmEm & fafe Sewdl & e i

(@) @mR, aE R @R ¥ FE e
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an

(57) [am:‘“‘*ﬁf%ﬂﬁfwa\?ﬁﬁwmmﬁa
F 27

() "o A @ g @ =R i)

RIERUEETNE e s S —— fafa w

2|

Distinguish between a Partnership and Limited

liability partnership. What are the merits and demerits

of LLP? (18)

Or

(a) What are the features of a joint stock company?
(8)

(b) Explain the nced and objectives of business

combinations? (10)

L e

|
{
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mﬁr&vaﬁrﬁrﬁ?@ﬂmﬁﬁﬁmﬁrﬁqﬁmwwl
Tee & T IR AW ar 77

(37) U wgea ®ieh &9 it fowaw = 27

(F) aaideE TareHl S MEaedl U9 323l &1 Ere
Ll

3. (a) Explain the macro environment of business. (8)

(b) Discuss SWOT and ETOP as environment

scanning techniques. (10)
Or

(a) Explain the nature and significance of business

environment. , (10)



(b) “Business environment is dynamic”. Explain.

(8)

(3r) HIEE & Wi gy € @ i

(@) SWOT &R ETOP & wafaw @ qaiiani & 7
¥ ol &

(3r) =EEdE FEEROT & Y Ud #Eed Sl ARAT FI

(@) “oHraEfae AR i 271 e Hifn ?

(a) Explain the concept of ‘Entrepreneurship’. What

are the qualities of a successful entrepreneur?

(10)

(b) What are the functions of an entrepreneur?

(&)

P.T.O.
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(a) Discuss the steps in  the proce
€SS of

entrepreneurship.
(9)

(b) Explain the concept of social entreprencurship by

giving examples. o)

(BT) ‘Wﬁm’aﬁmmaﬁmaﬁmlwgwm

@ o B
(3) v IR @ FE HE
al
(1) Safiar =) wfwEn ¥ Wl ®owE R
(=) arnfore SOBET & FEUROT @l e I

GHARVI

5. (a) What do you mecan by workforce diversity?

What are the merits of having diversity at

workplace? (10)
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5 7
(b) Write a note on learning organizations. (8)
Or
Write notes on any three : (6x3)

(a) Franchising
(b) Digitalization
(¢) E-commerce
(d) Make in India

(e) One Person Company

(f) Skill India

(37) wdaw ffeud ¥ soa F e B FEEE W
fifgear B & @ U 87

() foeror el W ve ot foftaw

P.T.O.



(1000)



gl &

Sr. No. of Question Paper

Name of the Paper
Name of Course

Semester o

Unique Paper Code - 2164001001 . welfare
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- jon pa
Instructions for candidates: ¢ his g uestto per,

. . eceipt O B}
Write your Roll No. on the top immediately Onsréompulsory' Y

l. .
2. Attempt four questions in all. Question No. 11

3. All questions carry equal marks.
4. Al parts of a question must be answered together.

Q.1 (a) Define (any five):

i. Endangered species
ii. TUCN

iii. Cash crops

iv. Sacred plants

v. Tribal Rights Bill
vi. CBD

(b) Fill in the blanks: (5X1=5)

L, s o et 323k 0 & ek is the botanical name of Basmati rice.
il CottonisS @ .....veeriiiineeeiiinnnnn yielding plant.
iii. World Biodiversity Day is celebrated on ...................cooeeinie every yer,
1iv. Most of the commercial sugar is obtained from the................ccoeeviii plant.
v. Naked seeds are found in ............................

(c) Match the following: (5X1=9)

Column 1 Column I1

i. Global warming a. Protein

11, Petro crop b. Crop diversity
Il Legum‘es- ‘ c. Poaceae

v, Agrobiodiversity d. Greenhouse gases
v. Cereals e. Jatropha

Q.2 Write the botanical name, family, part used and economic importance of: (5X3° 15)

a) Sandalwood
b) Saffron

¢) Ashwagandha
d) Tobacco

e) Com



Q.3 Write short notes on any three: (3 X5=15%)

2) Waste minimization during product formation
b) Commercial value of plant wealth

©) Role of forests in well-being

d) H0t~8p0ts of biodiversity in India

Q.4 Answer any three of the following: : (3 X 5=15)

a) Briefly giscuss India’s role in sustainable utilization and achieving Sustainable
DCVelopment Goals. o
b) Discugg ecological and economic importance of Bryophytes and Algae.
¢) Discygg the traditional importance of crops as food giving examples of any two pulses
and oj] crops‘ each. _ ‘ .
'd) Differentiate between in-situ conservation and ex-sifu conservation by giving
CXampleg,

Q.5 (a) What are the values of biodiversity? Discuss their salient features. (7)

(b) Discuss the orop diversity in various phytogeographic regions of India and their
traditional importance as spices and beverages giving two examples from each. (8)
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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt
of this question paper.

Question 1 in Section A is compulsory.
Attempt any 4 questions from Section B.

Answer all parts of a question together.

Section A

(1) What will be the output of the following code
segment? (2)

a=40

P.T.0O.
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(i)

(111)

(1v)

(V)

b=10

a=atb

b=atb

a=a+tb

print(a,b)

Give the output of the following code segment:

3)
total=0
N=10
for i in range(l, N+1):
if 1%2==0:
continue
for j in range (1, 1+1):
total+=1
if j == 1/2.0:
break
print(total)
Give the output of the following code segment:
a=[1. 2. 3]
b=a*2

print (b) (2)

Write a function to count the number ot vowels
In a string. (3)

Evaluate the tollowing expressions: (5)

(1) mt (4.00(2.0-2.0))
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(vi)

(vii)

(vii)

(ix)

3
() X=2+9%((3*12) _g)/10
(iif) ﬂoat(41mt(239)%a)
(iv) 2% (3%%2)
(V) (2%%3) #%,

Iglentify and Rectify
glven statements:

the error (if any) in the
(2)

"Hello python"

>>>str[6] ="g"

Write a function tha

. t accepts two numbers and
returns its average.

(2)
Identify valid/invalid identifiers from the
following : (3)

(1) My_string 1
(1) 2nd_string
(111) Foo

(iv) _int_

(v) String%

(vi) It
What is the type of arguments used in the
definition of function add(). Write the output that

will be produced on the execution of the following
code segment: (5)

P.T.O.
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(x)

2 (a)
(b)
(c)

4

def add(a=3, b=5, ¢=7):
return(at+b+c)
print(add())
print(add(7))
print(add(6,8))
print(add(c=9))

Design a flow chart to display the largest factor
of a positive number. (3)

Section B

Write a function f1 (nl,n2,n3) which returns the
minimum and maximum of three arguments viz
(5)

nl, n2, and n3.

What will be the output of the following
code : (5)
def f(x, 1=[]):

for i in range(x) :

1.append(i*1)

print(1)
f(2)
f(3,[3,2,1])
f(3)
Write a function named FnSeriesSum(), which

accepts an integer argument (n) to calculate the
sum of the first n terms of the following series
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3. (a)
(b)
(c)

4.  (a)

5

and returns the computed sum. (5)
L —4+9-16+25-36+ ..

Use the given list L to find the output for
the following methods. Write down the

updated content of list L after applying each
method. (5)

L=1[1,3,2,12, 2, 4, 3]
(1) L.append(10)
(i1) L.count(2)
(i11) L.index(12)
(iv) L.insert(2,15)
(v) L.remove(2)
Write a function FnCommon() to find the
common elements in given two lists, L1 and L2

and store them in third list L3. Also, function
needs to return the computed list L3. ®))

Write a Python function, with appropriate
comments, that takes the name and age of a
person as input and displays an appropriate
message whether the person is eligible to vote
or not based on age where minimum age for
voting is 18 years. Also check that input name
must contain at least 4 characters, else display
inappropriate name. (5)

Write a function in Python to generate the
following two patterns: (6)

(1) *

P.T.O.
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¥ ok ok ok ok % %
(ii) 4321
321
2 1
1

(b) Consider the following strings to find the output
of the following print statements: (5)

= 'abedefxyyzxyzxzxyy'
(1) print(s.islower)
(i) print(s.count ('xy")
(i) print(s.find('cd’))
(iv) print(s.replace('xy’, 'pq'))
(v) print (s.split ('x'))
(¢) Rewrite the following code using for loop: (4)
=10
while(i>0):

print('i=', i)
1=-1

(a) Consider tuple T1=(12, 3, 45, 'Hockey', 'Anil’,
(‘a', 'b')) to answer the following: (5)

(1) Display the first element of 'T1"




i

(243
(b)
(c)

6. (a)
(b)

7

(ii) Display the last element of 'TI".
(iif) Display tuple 'T1" in reverse order.
(iv) Display 'b' from tuple 'T1".

(v) Display 'Anil' from tuple 'T1".

Write a function that takes two files, textl.txt
and text2.txt, as input. The function must read
the content of the file textl.txt line by line and
should write them to another file text2.txt.
Display the content of file text2.txt. Use
appropriate exceptions for file handling. (5)

Write a function to print every character of a
string entered by the user in a new line using
the for loop. Also, display total number of
characters in the string at the end. (5)

What will be the output of the following code
segment? (5)
for letter in 'programming with python':

if letter=="a" or letter=="n":

continue

print(‘current letter:'. letter)
Write a function that accepts a list (L) of 10
elements to find the frequency of cach distinct
element in L. Use dictionary to store clement
and its count in key- value pair form. Also,

display the elements with maximum count using
dictionary. (6-4)

P.T.0O.
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7. (a) WritePython statements to accept a roll number
from the user and displays its name from the
following dictionary D in which key represents
roll number and value 1s name. (2)

D={1: 'Amit, 2: 'Sumit, 5 Kavita'}
(b) (i) Find the output of the following code: (2+1)

def fn(x):
try:
print(5/x)
except ZeroDivisionError:
print("except block")
else:
print("else block") finally:
print("finally block")
fn(0)

(i) What error is returned by the following
statement if file “try.txt” does not exist?

f=open("try.txt")

(c) Write two differences between lists and tuples?
Give one example showing their usage. (4)

(d) Write a user-defined function SUMSQUARES(n)
in Python that accepts a number n as an
argument. The function returns the sum of
squares of the first n numbers. Also, write
statement to call this function for n=5 and print
the returned value. (6)

(500)
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Your Roll No..eeevvevrennns

Sr. No. of Question Paper : 1264 ,Té/D

Unique Paper Code 2354001001 T)

Name of the Paper . GE: Fundamentals of Calculus
Name of the Course : Common Prog. Group
Semester o1

Duration : 3 Hours Maximum Marks : 90

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
~ of this question paper.

2. All questions are compulsory and carry equal marks.
3. This question paper has six questions.

4. Attempt any two parts from each question.

el/x __e—]/x
1. (a) (i) Establish that lim Tx 7 does not exist.

x—0 el/x +e—1/
(i) Examine the continuity of the function

-x* L if x<0
5x-4 ,if 0<x<1
g(x)=y", 7
4x° -3x, if 1<x<?2
3x+4 if x>2

at x=0,1,2 and discuss their type of
discontinuities, if any.
P.T.O.



1264 2

o , [ 2x ,
(b) Differentiate tan (] 2) with respect to-
- X

o 2x j
-
sin  Also pr at 1f xY = px
(sz s0 prove that if x e* 7, then
dy  logx

dx (1+lOgX)2

(c) Find the n' derivatives of f(x) = ™ cos? bx and

g(x) = sin5xsin3x.

2. (a)If y=em51“_1", then show that

(1-x3y,, - @n+Dxy - (n*+m?)y_=0. Also
find y (0).

: 2 .2

- X+Yy . -1 X +Y
b Let\u---cos1 and v=sin )
v [JX+JYJ [ x+y]

Show that

xéu_ +y—(3—u+~;jcotu:0 and xﬂl—+y§\—/:t'anv

OX
(c) If V=1 where r? = x*+y*+ 2%, then prove that
Y X 0tV . o*v
o’x  dty 0%z

=m(m+1)r""7

3. (a) State and prove Rolle’s theorem. Verify it for the
function

f(x) = x> — 6x* + 11x — 6 in the domain [1,3].
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4.

(b) State Lagrange’s mean value theorem. Use it to
show that

’

X
Tox < log(1l +x) < x, for all x> 0.

(c) Verify Cauchy’s mean value theorem for the
following pair of functions:

- 1 _1 .
(1) f(x)=;2_ and g(x)—x in the domain
[2,5].

(1) f(x) = sin x and g(x) = cos x in the domain
[0, /2].

(ii) f(x) = e* and g(x) = e* in the domain [1,4].

(a) Find the range of x for which the series
atax+ax’+ .. +ax™+ . is convergent, where

a 1s a nonzero real number. Verify whether the

27

series 1+—+—+—+--+ {5 con
47 16 64 Q vergent or not.

(b) Find the Taylor’s series for f(x) sin x and
g(x) = COS X.

(c) Evaluate the following :

1 1
1) lim| —-— )
® x—>0[x2 sinzx)

P.T.O.
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mn2 X = x%
@ '[t J
(a) Determine the intervals of concavity and points of
inflection of the curve y = 3x% — 40x3 + 3x _ 20, .
Also use both first and second derivative tests t,
show that f(x) = x* = 3x + 3 has relative minimupm

5.

at x=1.

(b) Find asymptotes of the curve:
y}—2xy2-x%y +2x%+ 2x2 - 3xy +x -2y + 1 = (.

(c) Determine the intervals of concavity and points of
inflection of the curve y =e™. Also, show that the

points of inflection of the curve y=—(x-3),/(x-5)

lies on the line 3x =17.

6. (a) Sketch a graph of 'y=x,2+ and identify the
locations of all asymptotes, intercepts, relative

extrema and inflection points.

(b) Locate the critical points and identify which critical
points are stationary points for the functions:
(1) f(x) = 4x*—16x2+ 17
i) g(x) = 3x4 + 12x
(iii) h(x) = 3x57- 15523,

(c) Trace the curve r = 2(1 + cos0).
| (2000)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. This question paper contains 2 parts: Part A & Part

B. Both parts are compulsory.

3. Candidates have to answer all the questions from

Part A and any THREE questions from Part B.

4. Questions in Part A carry 10 marks each and

questions in Part B carry 20 marks each.

P.T.O.



PART A

1. (a) Discuss the role of war in The Lasy Man

Or

(b) Discuss the role of Perdita in The Las pq),

2. (a) Discuss the portrayal of the Morlocks in The Time
Machine.

Or

(b) Why do most of the characters, including

the narrator, remain unnamed in The Time

Machine?

3. (a) Why does Mildred repeatedly attempt suicide in
Fahrenheit 4517

Or

(b) Why are books banned in the world of the future

represented in Fahrenheit 4517
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PART B

(a) Does The Last Man succeed in undercutting

anthropocentrism? Discuss with close reference

to the text of The Last Man.
Or
(b) Discuss the significance of the title of The Last
Man.
(a) Critically comment on the ending of The Time

Machine.

Or

(b) Although traditionally classified as dystopia, The
Time Machine also contains utopian elements.
Discuss the intermingling between utopia and

dystopia in the novel.

(a) Discuss the representation of technology in

Fahrenheit 451.

Or

P.T.O.
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-

i)

(a)

(b)

4

\'1olence appears ta he the only emotional outlet
avarlable to characters in Fahrenheit 451 Do
vou agree” Discuss with close reference to the

tond

While dystopic narratives are not reflections of
reality, they have the potential to act as reflections
on reality. With the help of any two texts from

the course. discuss how dystopias provide a critique

of existing structures.

Or

What ideas of “nature” or the “natural” do you
see in the texts in this course? With the help of
any one text from the course, discuss how nature

is represented.

(500)
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P.T.O.
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SECTION A

Attempt any two questions.

1. Answer the following questions :

(a) Explain the effect of an imposition of a tax on
manufacturers of drugs using demand-supply

diagram on the price and quantity traded of the

illegal drugs market. (6)



| A g X @
W*WY%“IWWW%%PPCW
HEHR T e

Answer the following questions :

(a) Does a price ceiling fixed by the government
always change the market outcome? Give reasons

for your answer. (6)

P.T.O.
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(b) Consider the following demand and supply
equations, where Q_ is the quantity supplied, Q. is
the quantity demanded and P is the price of the
commodity:

Q, = 2P - 100

Q, =200 - P
(1) Solve for the equilibrium quantity and price.

(11) Suppoée a tax of Rs. 15 per unit is imposed
on buyers, making the new demand curve
as: Q=200 — (P + 15). Calculate the tax

revenue earned by the government.

(3+3)°
(3r) = R T Rk e G s TR ® TR

H T 27 JUN I D HRU S0

(@) fwfofEd i #R g afeol w Rer =, ww
Q, Y @ W B, Q, W A TE AW 2 3w P
aqa‘ﬁaﬂw%:
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| Q. = 2P - 100

Q, = 200 — P

(i)égaawaﬂzaﬂﬂava\rﬁqgﬂﬁl
(ii) 7 Y @R W 15 WA @ W A AN
o S 2, e oW aw e 2
QD=200—(P+15)|_Wmarﬁia'ﬁ

UTE H AT v

3. Answer the following questions :

(a). Calculate cross price elasticity of demand between
the following pairs of goods and examine how the
- goods are related in each case, when the price of

Gel pen changes from Rs. 5 to Rs. 2:
(i) Gel pen and Ball point pen

(i) Gel pen and Refill Ink (6)

P.T.O.
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T & P R @ &9 T B wE B b
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(i) 3@ ¥ R dtw e

(i) 3 ¥ o R <F

Good Price per unit Good Quantity ]
“ | Initial Price | New Price Initial | New Quantity |
Quantity | .
Gel Pen 5 Sall Pont 10 W g J
Gel Pen Refill Ink 0 | 15|

(b) It is observed that at the existing equilibrium

demand is highly inelastic while the supply is highly
elastic. If the buyers have to pay a tax of Rs. T
for each unit they buy, who will bear the higher

burden of tax: buyer or seller? Explain why.

(6)
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4.

7
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SECTION B

Attempt any two questions.

Answer the following questions -

(a) Co}nsider a consumer consuming two goods X and
Y, where X is an inferior good for him. Suppose
the price of Good X rises. What would be the
‘effect of this change on the consumption of Good

Y. Illustrate with the help of diagram(s). (8)

(b) Explain what would be the shape of the
indifference curves when marginal rate of

‘substitution between two goods is zero. (4)

P.T.O.
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P e @ IR A

(1) wwﬁwwﬁwﬁﬁaa@@fxﬁt\(m
Wmé,aﬁxmf%{qﬁwa@%lm
W 1% @6g X A e 7 S 215w wRad
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Answer the following questions -

(a) Using indifference curves analysis, explain the

labour-leisure choice of an individual when the

wages change, and the resulting shape of the

labour supply curve. (8)

(b) A consumer spends his entire income on buttermilk
and biscuits. Can both be inferior goods at the

same time? Explain. | (4)
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(31) mem&wwmm@ T ¥
IR B W R e R - v 6w A s
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W%m%nwﬁwawﬁwmam
27 e W |

6. Naveen, a college student has Rs. 600 a week to
spend. Whenever_he goes to watch a movie, he always
buys two burgers. The price of the burger is Rs. 50 |

\ and the price of a movie ticket is Rs 100. Answer the

following questions :
(a) Draw Naveen’s budget constraint.

((b) Find the rate at which burger can be traded for a

Movie ticket?

(c) Draw few indifference curves for Naveen showing

his preferences over burger and movie.

P.T.O.
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(d) Find the equilibrium consumption of burger and

movie for Naveen, when he spends his entire

income.

(e) Now suppose, he gets a scholarship of Rs.200.
How would Naveen’s consumption of burgers and

movies change, when he spends his entire income?

(f) Continuing with Part (d), now suppose the price
of burger falls to Rs. 20. How would Naveen’s

consumption of burgers and movies change? Will

he be spending his entire income?
| O (141+1424344)
| aﬁ#,wﬁéam%wﬁwﬁ%%q@mﬁ
600 € 2| 78 T N FE et T T 2 W ww A W

Gl H A B WR B W 50 TR IR R Rwe @
FF 100 TA B FelRae v @ 3w 3

(3) 6 % Toc IRy W ImRaw SR

(@) Wamﬁmﬁ@ﬁw%mﬁtﬁw
e w1 "@ar ?7 |
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(W) wﬁvaﬂz@waﬂa%aﬁ}mﬁnﬁ*fwm
e aw @i
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SECTION C

Attempt any two questions.

7. Answer the following questions :

(a) Consider a firm producing 100 units of Good Y

P.T.O.
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12

using two puts Labour (1) and Capital (K)
Suppose the price of capital Increases. Hlustrate

the change in least cost combination of [ and K

using isocost and isoquant diagram. (6)

(b) Distinguish between economic profit and

accounting profits. Which is higher and why?
Calculate economic and accounting profit of a firm
if revenue is Rs. 100,000 and all its costs being
paid are Rs. 30,000. Firm is saving Rs. 10,000 by

not hiring a manager as the owner herself is looking

after the firm.

(6)

frefefes vl & sw A

(37) ﬁmm(;)aﬁ*ﬁ(l{)mmmﬁ

Y & 100 THEA W IEET FE T UF T W
faem <) w1 A IO @ o T w2 T
IR FAIENE R I D L AR K D e
A0 T A uRadT S wwm)
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AT 30,000 TR 21 vt 7w w T AR G
1o,oolom&ﬁmmta%ﬂ%wmm’ﬁ
F @ & T R

8. Answer the following questions

(a) What is the relationship between returns to scale
and economies of scale? Explain with the help of’

(6)

diagram(s).

(b) Suppose a firm produces 10 units of output (Y)
using two inputs Labour (L) and Capital (K).
Derive the equation of isoquant when the firm is

having tollowing production functions :  (3x2=6)

|

M Y =L>K?

(i) Y = 100L ~ SOK

P.T.O.
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(1) Y = L2.K2

Gi) Y = 100L + 50K

9. Consider a competitive firm producing Good X. From
the table given below, calculate TFC, TVC, AFC,
AVC, AC, and MC. |

If the market price of Good X pen is Rs. 40,
should the firm be producing any quantity? Explain.

(12)
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T X & IR e aet & Wfaepelt w4 9 femw &1
A & W @ A, TFC, TVC, AFC, AVC, AC 3R
MC &t T &R

R Ty X-ﬁ#mmwaomﬁ%ﬁrwmﬁaﬁ%ﬁ
T S IMET T ARG ? w5

Quantity (Q) | Total Cost (TC)
80
100
110
132
160
210
270

— e

qjo
|

Al a|w

SECTION D

Attempt any three questions.

10. Under what conditions will a firm shut down

temporarily? Explain. (6)

f TRffoal % #1% wF st =7 d 92 7 Fod? s
R

P.T.O.
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(1 bxplam why in the short run cquilibrium f
0f the

13.

perfectly competitive Firm price is equal to g,
' arginal

cost. while in the long run equilibrium price jg
S €qual

to marginal cost as well as average cogt

(6)

e @ e A e 8, el S ¥ G e
T @ W -a e A & A 2

~ Why do the average and marginal revenue curves for

a firm in a competitive market horizontal? - (6)
o e o ¥ v B R st ik @
a7 e @ o 87

Why do firms enter an industry when they know that

in the long run economic profit will be zero?  (6)

mﬁm‘&ﬁ:m%’ it @ T am A

i ¥ A w0

(1000)
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el it e @ T A |
ol el @ o W B
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Define development and discuss the changing concept

of development.

fem = g i ﬁ?ﬁaﬁmaﬁmﬁmﬂmaﬁ
fagwm SR

Critically analyse the social and economic indicators
for measuring development.

faem @t w & fv w3k s W@ o
e fagewor & |

Discuss development theory as given by Hirschman.

e gr v Rem Rem @ e €fw )

Discuss in brief the global pattern of development

with special reference to economic groupings.
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i W & R W ¥ e & ARaw wfven = w8y
A fde ifv

5. Describe the various indicators of Human

Development Index in India.

mﬁwﬁmm%ﬁﬁqﬁ@ﬁwaﬁaﬁmu

Discuss the role of SAARC and ASEAN in inter

regional development co-operation.

wwmmﬁwﬁaﬁmﬁﬁﬁww
o =t

7. Elucidate the Equity - Efficiency debate in

development.

fommE o wAHE-caa & =t @ W o

8. Discuss the concept of under development and

dependent development with suitable examples.

I w3k st fawm & sauron = IfE Ieren
gied fadwmn =hifsw |

P.T.O.
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9 Write short notes on any two of the following
i % @ Bl @ w At Rafrr fof
(a) Rostow’s Growth model
I @ e e
(b) Alternative development paradigms
Jenfoqen faerm WicATT

(c) Distributive Justice

IR Ea |

(1000)



[This question paper contains 2 printed pages.]

Your Roll Nowieeeenees
D
Sr. No. of Question Paper : 3337
Unique Paper Code : 2314001002 i
Name of the Course : (Common prog.Group) NEP- B.A History-G |
honors other than History) Card
: arly
Name of the Paper : Delhi Through The Ages: The Making Of Its ‘
Modern History
Semester | _ o
Duration : 3 Hours Maximum Marks : 90
g ;3 Hwe T ;90

Instructions for Candidates

1.~ Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt any four questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.

o & foe Bl

1 TEIE-TE S REd @ R e i e W s sEware ffae

2. &= oy & 3w A

3 Wity @ e I E

4. T8 Y -9 b1 IR FASH A B GG v o A Afvre, A wht IR @6 W v & A
=ifey |

1. Critically evaluate the literary and archacological evidence for Indraprastha.
T & T ifefers sl qfcas: W @ e e S |

2.

‘The story of ancient monuments includes the rediscovery of their historical

significance in modern times". Discuss with reference to the Ashokan Inscriptions
or the Mehrauli Iron Pillar,

T R A ¥ A w9 w2 s & e
mﬁ%ﬁgm%m#wﬁ1

PTO

-
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3. F\P':lin the patterns of settlement and fortifications at Lalkoy
TR y wd AR AT B ufdwq o) apen i
C
4. f\"“nlnc the development and changing crtyscape of Delhi between 1o to 14th
Conypes, With special reference any one of (he following
(2) Apangpt! Fort, (b) Dili-i-Kunha's M:lsjid—i-.lumi, (¢) Siri, (d) Ghiyaspur-
Kilukh,"-.. (¢) Tughlugabad and () Firuzabad.
T Y el U @ = A m-mﬁm&ﬂaﬁﬁaﬁ}ﬁﬁaﬂaaﬁzw—w@m (ars)
Ea) Sy AR
(F) syt foem, (@) ferelt - ¥ - ey wfste - ¥ - el (1) @9, (=) forarer - vt
3 . :
. ance and characteristics of the architecture of Humayun’s

Highlight the signific
Gal‘dcn T()mb

T & qfid Tl AER TG D Hwey 3R At ® werw v |

Dlscuss the prominent social and cultural aspects of the Imperial city of

Shahjahanabad in 17th Century. ’
lﬁm%mﬁmmﬁm%mmﬁﬁ 3R arepfo wEst W
| ‘

7. What were the political, social and cultural ‘changes’ in 18th century Delhi?
Explain with suitable examples.
183 Fraret Reelt F ey W & o, AR 3R weghn aRad 70 7 Shrg
JETERO & AT FH |

8. Write a short note on any two of the following :

(a) Tilpat & Panipat  (b) Siri (c) Charbagh

(d) Bazaars of Delhi (e) Jafar Zattali

fodi @ w dftra oo fafe -
(@) foome sk oem (@) @ () =T

(9) Rt & s (¥) TR eeett
(10,000)

A__J
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Your Roll No...............
HIHT  IAhATH..............
Sr. No. of Question Paper : 3343 D
T U @ HHIH
Unique Paper Code 2324001002

ot AR Fre

Name of the Paper . Nationalism in India

Name of the Course : B.A. Common ( Prog)

TMSAKH hl AN Group Political Science
(GE - 3)

Semester/Annual A |

AN /aiH

Duration : 3 Hours Maximum Marks : 90

T : 3 "ue Ut : 90

(S

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. Attempt Any Five questions.

3. All questions carry equal marks.

P.T.O.
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4. Answers may be written either in English or Hindi but
the same medium should be followed throughout the
paper.

Bl ® forg fgw

1 WE-1F @ e 8 oW Ry v iR e W e
FwHIS Ty |

2. Tl dter weAl @ IR AR |

3 U B 3w 9 B

4. T WEYA 1 IR Fden A1 B frdt v s A dAfSre AR
T ITRI T AEAA T & B4 1T

1. Analyze the Imperialist approaches to the study of
Nationalism in India.

TR # UKAR & T & folg mredarel SUnEl @
fogemor )

2. Critically analyze the reformism duing 19th Century

in India.

199 q& TN GURAE QAT BT SeA=HICHE  fageror
Ry
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3, Discuss the role of Gandhi in Mass Mobilization ip
the Indian National Movement.
AR T Wﬁwmﬁwﬁ%ﬂﬁrﬁﬁﬁmm
fraeoT T R

4. Elaborate the role of Revolutionaries in the National
Movement.
A TG e ¥ hifeeial o s o avie Y

5. The Social and Religious Movement of the 19th
Century provided the foundation for nationalism in
India. Elaborate.
R T D FATE HR o guR s g ¥
TAE &l A4 W& # I $iRm)

6. Compare the ideology of Swadeshi nationalist and
Liberal Constitutionalists.
Ey

7. Write an essay on the rise of Communalism in Colonial

India.

SufAafi wRa ¥ awEfiEa @ Jgwe W uE fay il
P.T.O.



3343 4

Discuss the role and Contribution of Peasant
Movements in India's Struggle for freedom.

fram e &t =TT T 3 o W T =
What do you Understand by two Nation Theory?
Discuss its role in India's Partition.

fz 7 faga & 3 = w2 7 wwa B e ¥ s
v =T w1

Write short notes on Any Two of the following:

frafafas 3 @ & 2 w afem froht fafeo

(a) Subaltern Perspectives of nationalism in India
WA # AT F OIWiNA adia soaas

(b) Brahmo Sama

ARl |HTA

(1000)
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Your Roll No...............
Sr. No. of Question Paper : 3366 D
Unique Paper Code © 2035001003
Name of the Paper . English Fluency — 1
Name of the Course : Common Prog. Group
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Type of Paper . GE Language 3
Duration : 3 Hours ' Maximum Marks : 90

1.

\ Instructions for Candidates

Write your Roll No. on the top immediately on receipt
of this question paper.

This question paper has two parts, A and B. Both
parts are compulsory.

Answer a total of six questions, of which 3 are from
Part A and 3 are from Part B.

PART A

Answer any three questions. (3x10=30)

P.T.O.
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L.

2

Write a diary entry on your recent college trip ¢, .

hill station.

Write a blog post on how you started posting on ,

social media platform, and what has kept yoy
motivated.

Write a paragraph on ways to manage your finances
as an undergraduate student.

Fill in the blanks with correct articles or prepositions.

(1)

(ii)

(iii)

(iv)

(V)

(vi)

English professor who taught us is -
retiring today.

How many siblings live that building

with their parents?

It was a pleasantly cold afternoon

February.

mid-
reason for her resignation is still

unknown.

She will be travelling
vacation.

the summer

Either my shoes or your coat is always _
the floor.
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)

(vii) The garage 1s the grocery shop.

(viit) Were yoy working on your assignment

late?

(ix) One of my sisters is going on a trip
France.

(x) There is ____ huge vegetable market near
my office.

- 5. Read the passage given below, identify ten mistakes

and rewrite the passage with corrections. (10)

Varanasi is locate (1) on (2) the north eastern part of
India. Hindu pilgrims go there to purify their soles
(3). To the Hindus, Varanasi is the holiest pilgrimage
centre to (4) éll places. Thousands of pilgrims visit
this wholly (5) city every year. As early as four
o’clock at (6) the morning the pilgrims are seen make
(7) their way to the famous bathing steps knowed (8)
as Ghats. From there they board row boats to the
holy river Ganges to take a bath. In doing this, the

pilgrims believe that there (9) sins would be wash

(10).

P.T.O.
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0.

pART B

estions. B
{nswer any three qu (3%20= 60)

n below and answer the

Read the passage give

questions that follow -

‘Toy-Based Pedagogy 18 ased on the principle that

toys are not just for entertalnment or recreation byt

can also be used as a learning resource for the mental,

physical, social and emotional development of the
child. Toys can open up and ignite the mind of the |
child.’ Using this approach can be an effective way
of developing 21st Centyry skills such as creative and
critical thinking, reasoning, problem-solving,
communication and adaptability. The recent NCERT
handbook (2022) explains Toy-based Pedagogy is part
of Play-based Learning: ‘Play is a process, while board

games, toys or field games are objects on which play

operates.’

Toys and games can help enhance students’ cognitive
skills, such as attention, memory (both short-term and

long-term), visual processing, auditory processing, and




e
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5

rocess;j '
Y Mg speeq. They are also useful in developing

the SOC10e - .
Motiona] skills such as self- awareness, self-

managemeny socia] awareness, relationship skills, and
responsible decision-making. Students can also improve
upon their Physical skills, including fine and gross
motor skills, gyera)y body control, coordination of
movements, spatja| awareness, hand-eye coordination,
and balance. Right from classes Nursery to 12th, toys
can be used tq teach all subjects - Social Sciences,
Psychology, Philosophy, Political Science, Economics,
Mathematics, Languages, Entrepreneurship, Science,

Environmental styudijes (to name just a few) in labs,

classrooms and during online classes.

We can use any kind of toys and games to implement
this pedagogy in the classroom. The main criteria for
selection should be the access and availability, the
local connection and, above all, the potential to help
in exploring and learning abstract concepts. We have
all played with materials such as shells, wood, coconut
shells, clay, wire, paper, wax, soap bubbles, leaves,
sticks, seeds. bicycle tyres, stones, and sand during

our childhood. All these are games and toys which

P.T.O.
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6

involve scientific bas1$ and have a great edycational

relevance.

Indigenous toys and games such a spinning top (lattoo),
firki, kites, dug-dugi, Phimi the Pinwheel, magic cards,
flying birds, magic ‘snake, etcetera, are some of the

examples which are delight‘ful Play Objects and can be

used effectively 1in the teaching learning process.
Iﬁdian dolls'and puppets also have a huge potential to
address curricular needs at school level. Apart from
Indigenous toys and games, the latest mobile ana web
applications, digital toys and games, board games,

mazes and educational kits for different ages and

stages can also be used for teaching.

(a) Answer the following questions in about 100 words
each : (3x5=15)

(i) What do you understand by toy-based
pedagogy?

(i) How can it improve the learning skills of

the students?

(i) What are the criteria for selecting toys?

How can indigenous toys also be helpful?

Q
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’ “ 9
(l) rl‘\l]] t'\c l\"\ y ¢ 1esem ,l " 1 . '} ) qt
d8Nape piven above, give the mog

APDTONL:. :
PProprigge SYnonym to the words given below
(5%1-5)
() Leisure
(1) Kingle
(ill) Refine
(1v) Teaching

(V) Native-

Read the Comprehension passage given above in

Q6 and make notes in not more than 150 words.

(20)

8. You are visiting a family in a remote village where
the children have to walk for 5 kms to reach school.
Write a dialogue that you had with the children where
they share the various hardships they have to face

every day to reach school. (20)

9. A vacancy for a TGT teacher in English
was advertised in the national daily. Write a
cover letter and attach your resume for the advertised

post. (20)

P.T.O.
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10, Write a letter o your Principal asking for permissi
rmission

a youth festival in your college. Give all

(20)

(o organise

relevant details.

(2000)
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Semester ]
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At & fou fdw

1 =@ AT @ feR & g ey g fiRe w4 A S
FRATR folEy |

2. W UM AHEE B

L frefafag ¥ @ e @ w foonl fofag (10,10)
() fewt s =1 fgm@

(@) ST e

2 O R
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()

) freife ¥ ¥ R AR R ff, (10,10)

3. HER @ W o @i O WY el (15)
STAAT

fE & we- ded @ fewn FT

4. IygfE wRw ¥ Ao @ F OAVCEH AT STEHAT
- ifm (15)
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S AR TR e A A [

. PR T A ey e - (100)
(%) T A Sz oy, e 3w B A
I TR ey, Ao A B
JAdAT
TE BR fomar = v |
o fumai 4 frgdr op eR, faw 78 FOK |
R s fmaf a@, sk om o A |

(@) 37 T @ A e e I E
T FE IR B A W @ AR B
Y o W A FEE gu-wE T,
I @ i 9, W AR A, gd &) Al
3qdl
e AT - <t fagnd feer e -

WM & - TR T IR AEA |

PO,



-
safa = ey A, HeTsanl-
3 S = = kil STef) !

e e L G e o I PO
y ®@ |

(1000)
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oE @ fog Few

1 T WH-TF & e & R Ry v fuiRa e W se

Fegehen folfay |
0. @R g HiEd B
1 AW SR iR (8x3=24)

(&) TR WM @ v €, o0 TG SN |

A Ne Heag W, O T FEOR

P.T.O.
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Jrorar
: 0‘um'. : ] = g

@mﬁwﬂmﬁﬁﬁmmﬁqm 5

foams
() fams Thea & T A

S B g N SHeeE @

w2 foma T W H

fihe goiW ST IFh S

W B T w0 AT an

Jreran

AT 9 H W o B fosm Aftg |
frg & A8 @ A ¥ A
el = e @ W REy T R

FA FA Fl TWE S W THAA A&

(1) W =@ A emmEer
Al wEwE & faeamE)

Wa - e Rmar e @i,
A @ T\@E )
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W

Seran
VBV & A T iy

gE WA A R G
CIEECIC 2 e —
“H AR e

9. ffIRad 99 & Iw ORQ (12x4=48)
() B * I w® fer HRE

A=AdT

Hiddene &1 qm 9Reg SR
(@) FER P AN & FUR W e H FEed Wifehd o |

J=AdT

Joriter o Wi e W) it

(1) ‘® B, A w0 oA @ vioue fofew

AT

‘@’mﬁm%mmwmmﬁmgﬁ SR
&l W Fifea)

P.T.O.
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3.

(w) “afora o WK Sl i @ gey @) vt 2
- T W ER

SR

‘g8 et TR’ Hfad ¥ R sfr sha @ @l @ ao
il

frafafae fawa ® @ere feomd fofee: (@€ 3)
(6%3=18)

(@) &S & Sferl

(@)

(1) FrIem @ iR <

(%) Afrelaeer T A A A S
(¥) ‘@ac wE' il AHE

(7) ke

(3000)
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Your Roll No.....ooeeeeees
Sr. No. of Question Paper : 3689 C
Unique Paper Code : 12035915
Name of the Paper The Individual and Society
Name of the Course Generic Elective
Semester : I/IID

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

PART A

Attempt any 3 out of the 5 questions in this part.
Each question carries 10 marks. (3x10=30)

1. Despite securing the right to education, Dalit women

to face deep-rooted socio-cultural

continue
discrimination. Discuss Hira Bansode’s Bosom Friend
in the light of this statement. (10)

P.T.O.
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2. Discuss the use of silences in the poem, Telephone

Conversation by Wole Soyinka. (10)
3. Hauling our overloaded lives
the extra mile,
we’re truckers of another kind,
looking hopefully (years away
from Sialkot and Chandigarh)
for the taste of our mother’s
hand in the cooking.
(1) Identify the poem and the poet. (2)

(i) What kind of trucker are the “we” and what is

meant by “our overloaded lives”? 3)

(i) How does a shared past and a common cultural
heritage provide comfort in a foreign country?
Why is the use of “our mother’s” in the context
of “years away from Sialkot and Chandigarh”

significant? (5)

4. Critically comment on the following lines : (5%2)

(1) I shall die, but that is all that I shall do for
Death.
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(i)

(if)

3

lhough he may promise me much, 1 will not

map him the route to any man’s door.

Am I a spy in the land of the living, that I should

deliver men to Death? (Conscientious

Objector)

In what way does the last line of the poem -
"good son of Mother Church” - accentuate the

irony inherent in the poem, Marriages Are

Made. : (5)
Describe in detail the comparison between the

yellow fish and Jalaja in Ambai’sstory, Yellow

Fish. ®)

PART B

Attempt any 3 out of the 5 questions in this part.

Each question carries 15 marks, (3x15=45)

As a black person and as a woman, describe in detail,

how Maya Angelou challenges and rises above the

experience of double marginalization in her poem, Stil/

I Rise. (15)

P.T.O.
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7.

10.

“The book is written for the ignorant and the
who.. .do not care how

» This statement

uninformed Shudras,
artistically the theme is handled....
by Ambedkar describes one of the salient aspects of

Dalit aesthetics. Can this perspective be applied to
prakash

(15)

the prescribed excerpt from Joothan by Om

Valmiki? Substantiate your answer.

Based on your understanding of Roland Barthes’ essay,
Toys, attempt a critical evaluation of the socio-cultural
meanings associated with or implicit in the popular
games (online included) or toys. (15)
While Wilfred Owen highlights the horrors of war at
the hands of machines and other weapons of
destruction, Brecht asserts the essential inefficacy of
war and an unflinching faith in human kindness. In
the light of this assessment, compare Dulce et

Decorum Est, and General, Your Tank. (15)

In what ways does Tagore’s The Exercise Book offer
a glimpse into women’s lives in the late 19" and early
20t century Bengal. Focus particularly on child
marriage and the denial of educational opportunities

to women. (15)

(1000)



3

[This question paper conlaing 4 printed pages.]

Your Roll No..ccocuuneneies
Sr. No. of Question Paper : 3393 D
Unique Paper Code : 2135001003
Name of the Paper . Indian Aesthetics
Name of the Course . B.A. (Prog.) GE
Semester |
Duration : 3 Hours Maximum Marks : 90

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Unless otherwise required in a question answers should
be written either in Sanskrit or in Hindi or in English,

but the same medium should be used throughout the

paper.

3. All questions are compulsory.

A & fog fadw

L T W @ fien & oW Ry fiRa e w s

SRCRICATITCI

P.T.O.
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gy St - A T S Y el IR AR a1 fawdy o
R [l U I 3 (ﬂf&m, Aleker @ I 1 M U B

AEIISITN

aft e sl

ded @ 37 WU IR WA ¥ R T A
(18)

What is Saundarya? What are the differences between

madhurata and manoharita.

Jrerat / OR
ded F IRMtT A §Y @& Hewd ol 9d1gy |

Define Saundarya while explaining its importance.

@ WY F S WO FH EC FHIT | (18)

Explain the mental stages of rasa realization.

Herar / OR

W H FASEA ¥ g w qEe § - e Flg |
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What do you understapg by the concept of internal

bliss (anandamayata) of Rasa?

3 Wﬁmmﬁﬁwaﬁwwl
(18)

Explain the usefulnesg of fine arts in aesthetic

expression,

Hqar / OR
fFrafefed % ¥ el @ w afre Pooh fifau

Write short notes on any two of the following :

4. (&) IPmHmE~em ¥ uiffaa @i ity w
WehTal Tifery | (18)

Highlight the social perception of beauty as

reflected in Abhijnanshakuntalam.

P.T.O.
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HAUAAT / OR

aﬁﬁmﬁwiéﬁml:mﬁﬁ‘%'éﬁzﬁﬁu R AR ==
&I |

Describe the perception of beauty in the drama
of Abhijanasakuntalam.

(@) ffafas ¥ & fodl 1 W oo forfeare
(6x3=18)

Write short note on any three of the following :

ArEuy, gUAT, FRdl, WA, 9, #HC

(200)
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Your Roll NO.ooeeeersss™™
Sr. No. of Question Paper : 3707 C
Unique Paper Code . 11015301
Name of the Paper . Film Appreciation
Name of the Course . GE
Semester 0
Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt
of this question paper.

Attempt any three questions from Part A and any
three questions from Part B.

Questions from Part A carry 10 marks each (10x3=30).

Questions from Part B carry 15 marks each (15%3=45).

PART A

Write short notes on any three of the following :
(3x10=30)

Montage.

Use of colour in films.

P.T.O.
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3. German Expressionism.

4. Non — fiction cinema.

5. Raj Kapoor.

PART B
Answer any three questions from the following :
(3x15=45)

6. Mise — en — scene reflects the worldview of the
filmmaker. Elaborate on this statement with references
to different elements of the mise — en — scene.

7. Sound plays a very significant role in the meaning
making of a film — explain with suitable examples.

8. How does Italian Neorealism offer an alternative filmic
imagination?

9. What is Third Cinema? How does it present a model
of cinema of revolutionary transformation?

10. What are the factors behind the emergence of Indian

New Wave? Elaborate on the features of New Wave
films with examples.

(500)
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Your Roll No.....ccccuuean
Sr. N‘o. of Qll(;stlon Paper : 2041C C
Unique iPaper Code : 6235550:3 -
-N‘am_é_:‘of the Pa‘per: . GE- Genefal Mathematics — I
‘-I:\jlanielé 'éf_the Course : Gener.ic' Elective B.A.

- L (Prog.) / B.Com. (Prog.)
. 'Se‘rri.e.ster | -V

Duratlon :.-3 'Houps_ “Maximum Marks : 75

In‘s_t-i'_.uctiOns for Candidates

- 1. Write your Roll No. on the top immediately on receipt

- of this question- paper.
- 2. ‘Attempt any four questions.

'.3." : “All questions carry equal marks.

- 1. " Write a short note on the life and contributions of any

‘ "'t:li"ree'o_f the following mathematicians :
' - (a) Bhaskara I

P.T.O.

an, R A e
P
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(b) Mahavira
(¢) Madhava

(d) Brahmagupta

2. Attempt any three parts.

~(a) What is a pérfect number? Give Euclid’s f,(v)rm.ula. ‘
of perfect number. Is 28 a Perfect number? Show..-

it.

(b) Show that the permutation (c © b d a)is an .¢V§n ,

permutation with the help of inversions.

(¢) Define Latin square. Construct a Latin.square of

order 5.

(d) State Prime Testing method given by Fermat. Is

the converse true? Justify your answer.

3. Define Mersenne prime and Twin prime - with
examples. Find the greatest common divisor of 112
and 147. Find the number of distinct permutations of

the letters in MATHEMATICS.
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3

Define Magic square and give an example of magic

square of order 3.

0 1 O 0 0 0
f A=/0 0 1| and B=|1l 0 0], then calculate
000 010
the A2B + B?A. o

State any two properties of.transpose of a matrix and

‘llustrate them by giving one example of each.

Find the inverse of

&Q;‘:.

Il
w = O
— [\) p—

And hence find M.

Let
1 I 1 23
A={1 2 3| B=|0 5 0}
2 -1 3| |2 43]

P.T.O.
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Show that der(ABB) — det(A) *det(B).
Find adj.A (i.c., adjoint of A) and verify that

A(adj.A) (adj. A)A (det (A,)) L,.

(1500)
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Your Roll No...............
Sr. No. of Question Paper : 3115 C
Unique Paper Code : 62275504
Name of the Paper . Principles of Microeconomics
Name of the Course . B.A. (Prog)/B.Com. (Prog)

Economics -’ GE

Semester vV
Duration : 3 Hours Maximum Marks : 75

Instrqctions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. Attempt any 5 questions out of 7 and all questions
carry equal marks.

3. Simple calculator is permissible.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper.

aE & fog few

1 = E-TE & fiem 8 W v I Fuiie s W S
S ERICACITCI

s 7Y R 5 W B IR AW IR Ay & IR FA

? |

P.T.O.
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3. m%ﬁaﬁ’aaﬁwgl
4, TEVET-TT H IR sy an R e O ¥ dfe, A
T I T AT g & BT e |

1. (a) Why production possibility curves are concave to

the origin? Under what conditions would it be

convex and linear?

(b) What do you understand by mixed economy?

Explain its main feature with reference to India.

() I T TF A @ G ade FI 27 TF FA
Tiffafodt ¥ I9a 3k Wasw awm?

() b sreferaen & s w1 @He 27 WRE & FEN R
Tad q famwar &t aren it

2. Following table shows the supply to a office per month
by three firms *A’, *B” and "C” constituting the market.

Calculate the market supply schedule.

| Price (per kg) Quantity Su;)[)l}cd N

In Rs, Firm ‘A’ Firm ‘B’ ' Firm ¢’
- 2 7.5 - _171 | )
L 5 1.0 25 30
8 130 30 100 -
n 175 s 2
L 14 200 aC o 0
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R e @ AR gk o g e
\wa?mhuaﬁaiﬂﬁmaﬁWmmm%u

TOR MY g & T

Price (perkg)

|
InRs. I“i'm‘A’ Firm‘B | miooe
i 2 | 7.5 T ~
5 1.0 T
8 130 N3\0*\]00\
0 175 35 T
14 200 ] 40 150

3. (a) If the price of a commodity falls from Rs. § per

unit to Rs. 5 per unit, the consumer’s demand
increase from 10 units to 16 units. What is the
price elasticity of demand for the commodity?

(b) What are the assumptions of indifference curve
analysis? Also explain the concept of marginal rate
of substitution.

(37) @i 5 aeg N Fm 8w 9 e ¥ Fraw 5
wnﬁruﬁ?‘a‘rm?,a}mﬁﬁW]oqﬁz
¥ 9g 16 gFT B W ?) A & A A S a9
w1 BN ?

(W) Iedimar o fageiuw & aRom T ¥? e 9
AT o S FEURIT Y S Gy

4. What do you mean by the term economies of scale?
Why do these economies turn into diseconomies?

Discuss their nature and effect on pricing.

P.T.O.
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Explain the concept of shut-down point. Will a firm
unable to cover part of its fixed cease production in
short run? Derive the short run supply curve of a
perfectly competitive firm.

I ST WEE W FURen F W Aol FNTE T
FeaEt ¥ s FfRE gt SaeT @ BR § R & A
gad N7 v of wREe W o s I T
T il |

How is price determined under monopolistic

competition in long run? Explain with the help of
diagram.

T T A TRUERAE WA & Fed A e el
frar W1 27 M@ H WO ¥ T (T

Write short note on any two .
(a) Backward sloping supply curve of labour

(b) Prisoner’s dilemma
(c) Break even point

e @ w it oo fofew
() sm & TS W IR oA Y T
() #4 A
(@) ¥ o= uige
(5,000)
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2.  Attempt four questions in all.
3. All questions carry equal marks.

4. Answers may be written either in English or in Hindi;
but the same medium should be used throughout the

paper.
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How has Patriarchy affected gender relations in India?

ﬁm%m%ﬁaﬁaﬁsﬁﬁﬁwﬁam%?

Comment on the relationship between gender and

caste in early India.

T T ¥ W AR wifd & 9 & gey W fewd
Caief

Royal princesses played an important role as patrons.

Comment with reference to Jahanara Begum.

T TEARE ¥ wew @ € ¥ vw e W e
WA T H g ¥ oy =
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4. How did Harem and houschold shape the polity of
India during the seventeenth century 9
RS WA B I B N IRAR X 9w w0 ooy )
Y FER fRar 7

5. How did the bhakti of Mirabai challenge patriarchal
structures of the day?
ARErE AR X T R e @ @ e v
TR Q7

6. Discuss the 'woman question' in the social reform
movements of the nineteenth century.
I~ A & AT UR el § S gee @6 e
o |

7. Trace the role of women in national movement from

1905 to 1922.

1905 ¥ 1922 T TG AT # AR T T w1 aar
Enied

P.T.O.
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8. What was the impact of partition riots on women in

India?

Wi ¥ AReet G R & @ A A

(5000)
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2. Unless otherwise required in a question answers should
be written either in Sanskrit or in Hindi or in English,

but the same medium should be used throughout the

paper.

3. All questions are compulsory.
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1 I YH-T9 @ e & W Ry fiRa == w sgen
JgeRen Ty |

P.T.O.



3169 2

2. U AV F
,}-ﬁm'aﬁ#aﬁ‘mﬁwmmwﬁ

N R v
B WY |

3 @ft v afEd ¢

| PR ¥ ¥ faed o T @ ST AN (60)

Answer any Five of the followings :

(m)a@wvﬁwmwwﬁﬁﬁm

>

fafaw |

Write a detailed essay on Anchoring and News

| Reading.
(@) e aFemen @ A R 9O i

Describe in detail about the Journey of Sanskrit

Magazines.

() FOR Wew X T & hd IwAN R o1 weRdr
21

How can the internet be used in Media?
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(7) w97 ¥ sl wgw @ A9 ¥ = iR |

Write a detailed Blog on Social Networking m

Sanskrit.

(¥) aﬁfmquﬁﬁﬁﬁwﬁ%m

(%)

Write an essay on Vaarta Sankalan.

T I X e D Tew vE aaEuia @ Rl
FifT |

Identify the importance and captions to

translation in Sanskrit News.

sﬁﬁw%aaﬁ'g@aaﬁiﬁwwwﬁﬁaw‘m
forfaw |

Write a detailed Blog on the Role of Sanskrit in
Jobs.

STERTIATR R ek Heperarell v W v Feqe st

forfaw |

Write a detailed Blog on Daily Sanskrit News in

Akashwani.

P.T.O.
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2 Fwlofer ¥ § el e T B ffed (i)
Write short note any Three of the followings :
(%) @pa favas (Sanskrit Wikipedia)
(@) wepa Wl (Sanskrit Manjari)
() wepa Raifew (Sanskrit Reporting)
(a) qnRe (Sagarika)

(¥) qus (Sudharma)

(500)
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. erte your Roll No. on the top 1mmed1ately on receipt
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. 2. - -Attempt all questlons.

3. "All'quesllzions.c'arry equal marks.

1. . 'What is' GIS Used For? Elaborate your answer with

'.s'u-itable examples.

OR
P.T.O.
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ALY are N SOf T
What arce the Hardware and Software requirements

of GIS. Write about any (WO GIS softwares..

» Txplain Global Positioning gystem (GPS) and its

segments in detail,

OR

What is the difference bctwcén GPS a'n'd" DGPS? '

Discuss their significance.

3. What are the different types of GIS ’Dat-a?" o

OR

Differentiate between spatial and non-spétiél .'dAa'ta"':"

structure with suitable examples?

4. What is Overlay. Explain different types of (‘)Iverlay" "

methods.

OR



il
4458 :

write a note on GI
ut and Output.

S Data Analysis with especi
emphasis on Inp .

Define Land use Land Cover (LULC). How G
. ' S is

useful in LULC mapping.

OR

Wwhy Forest monitoring 1s important. How do we util
e utilize

GIS in forest mapping and monitoring

(100)
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